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1.

Complete the following statements: / 4

RETROSPECTIVE ASSIGNMENT 1: NUMBER SENSE %D yGEBﬂA
/{8

Name:

Two algebraic expressions are sald to beeq Fﬂk’fﬂ if ‘{'}WY clan Ai, S mp)r‘FYed 715 E’XaCf/v 7%6

saime ex pﬂfsgr on, mva en

expressivhs must- agred for all possible  Valuls

e fo éﬁﬁng g ghqexa?nfale of two equivalent expressions: o?d 19 d Zd * % (éﬂ#' LY hz}p/ fﬁ/ o 7d )

The expressions 2x and x* are not equivalent. Show this in the following ways.

(a) 2x means Q(OH&{@ Qa I’THML‘?V

while x* means Q naméer ﬁMQS I.'{SPHE .

For example, if x=-7,

2xi= -:2("7) £ -—/4
(=1)* = 49

and x* =

/16

(b) 2x means 6(’2 groups of x
X groupsof XK

while
x* means
For example, if x=4,

2x=2(4), which means ~ & groups of i and
=4 = (4)(4),Iwhich means 4 groups ofi.

(¢) Complete the table. Then draw conclusions by
completing the statement to the right of the table.

x | 2x |
=510 25‘ From the table, we can see
-4|-3 | 10 :
3ls ‘O q that 2x and x~ agree enly
-2 |4 | |+ when x = 0 and when
-1 |~ | x= 2 . For all other
@
0 o Cl) values of x, 2x and x*
1
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31 0@ 9 Therefore, 2x and x;
4| 3|16 Yy {
cannot be €yUIVAPaT
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(d) A plcture of x* could look like the following:

This picture can represent x°

because ‘H‘E aréa CTP f/Q

Soyuaré is x *

On the other hand, a picture of 2x could look like the
following:
1 1

This picture can represent 2x

because ‘{‘AQ aréa 076%
rectangle 1s P,

From these pictures we must conclude that 2x and x’
are not equivalent because +/{Q aréas are

uot 12 sine, (The areas only agyee
Hr' aK=al, )

Using both a legical argument and pictures, explain why %+ % # % . Then complete the statement at the right. / 6

(b) Pictures

(a) Logical Argument

772. va,uz U'Fa '+% ”‘H5+
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2.

Whenever I add or subtract

[fractions, | must always

remember to WNSS ('ac}\ ﬁﬂﬂl)‘

+ a&nq a_Commpn derominaby

because auch {ﬂ}lf?{i muSt
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4. First complete the statements found below. Then
evaluate the expression shown at the right. Show all

steps!
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2w -39 ]-(

Whenever | evaluate expressions, | must always remember:

Adding and subtracting involves ’aﬁ‘:"& and 3-7”“5.

Multiplying and dividing involves C!Jbiml Wi M@ﬂl e 9’4”5

[ should not use the G{ [ 57()' [ A’Y”K’ [)i’ol??r f\/ because

the Qu/eSsionS i brachels O‘fN lu 3%{)10983’
| should use QEDMH,’S so that I'll know how to

apply the operations in the correct @Fd e)"’

[ should separate the expression into '{'C)" ms

5. First complete the statements found below. Then
substitute the given values into the expression shown

/20

at the right and evaluate. Show all steps!

Whenever | substitute values into expressions, 1 must:

Replace the variables with empty - bm Ck €7[S i

o pemﬁahj are not
Same

taking care to ensure that

changed and exponents remain the

Then the given values should be inserted into the empty

mehC '}'5 , taking care to ensure that the correct

values are used.

Finally, the resulting expression should be ﬁm@gfeg{

using BE Dm A‘S and keeping in mind all the points

made in question | .
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First complete the statements found below.
Then simplify the expression shown at the

/20

right. Show all steps!

Whenever | simplify expressions, | must remember:
1. When adding and subtracting expressions, | must
collect like  ferms .

add the opposite only when 5 A__be‘flf C{C“L [ m/’;

8] ﬂ?!l/hﬁmm/m éma‘re%s

When multiplying and dividing expressions, |

, a‘ ke #C‘bfs together and

L e)(! [_’70!1?)17‘_5 . In

I should

must put

addition, if I multiply a monomial by a polynomial
with two or more terms, I should use the
<0
ol st ):uY(fvf ’prc;pefﬁy :

[ must never confuse addition and subtraction with

multiplication and division. For example,

o X 4x'= QXQ but xz(x3]= %1?’-

3 2. \4
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7. Write expressions for the area and perimeter of the following shape.

Total area

%rume“w = Yx + Y Y M1~
= 843y + AM(x / Gimpl
= g?( ‘\Lg)/ ‘f'%% be(uMSL Ex ard Trx
= 8x+4ﬂ‘fx+;’y
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